TR TLFR / 3aReT fasmen
GOVERNMENT OF INDIA / DEPARTMENT OF SPACE
3rafiaT 3UAT deg (3UT)
SPACE APPLICATIONS CENTRE (ISRO)

HeHcaldld AHMEDABAD

ADVT. No. : SAC-DECU:02:2016, dtd. 6/8/2016 (Post Code : 24)
AP TES (AIRH) ug F 99 & fore forf@ra adie

Written Test for selection to the Post of
Technical Assistant (Mechanical)

Date 04/12/2016 (Sunday) Question Booklet Series

Test Timings 1200 - 1400 hrs.
No. of Questions 80
Maximum Marks 240

srigar & forw =der / Instructions to the candidate

3yl Sear &t ST T T O Wee IR Ud 3NUANR Seard IReden e e fdeit s earTgd

e |

Candidate should read carefully the instructions in the Question Booklet and OMR Answer
Sheet before start answering.
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Immediately after the commencement of the examination, candidate should check that this

Question Booklet does not have any unprinted or torn or missing pages or items, ete. If so,
get it replaced by a proper Question Booklet.
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The question paper is in the form of a Question Booklet with 80 questions. Questions are of
objective type with four answers indicated, of which only one is unambiguously correct.
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Use only Ball Point Pen (Black or Blug) fo?writingi bubbling on OMR sheet. Enter all required

details and select the right answer by marking the corresponding oval on the OMR sheet as
per the instructions given in the OMR sheet.
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Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is mandatory
to be written on the OMR sheet in the box and bubble appropriately. Failing which, the
answer sheet will not be evaluated.
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Each correct answer will carry three (+3) marks; Zero (0) for no answer and minus
one (-1) for a wrong answer.
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Multiple answers for a question will be regarded as a wrong answer.

N e 3 earqden ford| Hfaferd sieasr de ger el & e

Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.
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Computers, Calculators, mobile phones, reference books, logarithm table, electronic

gadgets etc. will not be allowed inside the Examination Hall.
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" Space available in the Question Booklet can be used for rough work, if required. No separate

sheet will be provided.
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Candidate are not permitted to leave the Examination Hall during the first one hour of the
examination.
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Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket (ii)
Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
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Questions

300° C O T ElT GaTe} G a1 Uheat 30 ° C U 31 SaTal SITell § , g 70 o8 3 150°C e 681 &1 oflell 61 ThT |
8 300 ° C & HRTHE argareT 9v e e ot favar strar & 3% weresA @ 30°C &1 3 200 s U 150°C
a7 T sMar | 30 52 areT & o 7 3T T T e

a) Sl T g fafse 3sorar
b) STel &1 g 3SUTAT X oT oI
€) STE STHHR 3507l 30T A[Uiieh

) SR o A RS A

IR-TId T SoFeIe 1 3R [FaT AT 6

a) Ao afeea

b) 39T dA Afesa
o) St afedr
d) TS afesar

et ar€ Jmepfer & refere &Y Feviart & aier 100 fawarr s
Tz Tar &1 géat A wone & wue Y Tarenfas gfa g

a) 10/m
b) 5/n
c) 1/2n
d) 20/n

SOOI

T@T 2x=y+3 F GAA &

a)2
b) -2
c)1/2

d) 2/3 _

M 24 x 2 §ToT 3T T E;

a) 93 & [ 24 A iR apwS 2 TAATR

b) 21 T I EA- T &1 24 TAAL &

o) 8o F AT eary 24 R il Re 2 i
d) dvee & yand eary 24 RA AR AT A 2 95 8

FeTe) Fr aoT siga grelt weh= uivaT o sgard g2

a]zﬁ?ﬁfﬁ'ﬂﬁw

b) fega fawste weiifaar
¢} SETF AT ERfeT

d) =g AR

T 1 3 T 3 (et VAT & HT 31 el i

a) THATTT HIEFN
b) FFH THI
¢) aTEdfEs HER
d) aﬁ:sgﬁf
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Questions

1 A thin copper wire at 300 ° C is suddenly immersed in water at 30 ° C. It cools down

to 150 ° C in 70 seconds. It is then reheated to the initial temperature of 300 ° C and
suddenly exposed to air at 30 ° C where it cools down to 150 ° C in 200 seconds.
This difference in cooling time is due to:

a) Larger specific heat of water

b) Larger heat transfer coefficient of water
c) Smaller heat transfer coefficient of water
d) Nene of the above

The non-consumable electrode is used in:

a) Laser welding

b) lon beam welding
c) TIG welding

d) MIG welding

A mass of 100 kg is held between two springs as shown in figure. FEEITEEN
The natural frequency of vibration of the system in Hz is S 20 kN

a) 10hm
b) 5/
c) 1/.2m =
d) 20/m - NN

Slope of line 2x=y+3 is

a) 2
b) -2
€) 12
d) 2/3

Bolt of M 24 x 2 means that:

a) The pitch of the thread is 24 mm and depth is 2 mm

b) Cross-sectional area of the threads is 24 mm?

¢) The nominal diameter of bolt is 24 mm and pitch is 2 mm

d) The effective diameter of bolt is 24 mm and there are 2 threads per cm.

The machining process that adds rather than removes malerials is called:

a) Additive manufacturing

b) Electrical discharge machining
¢) Plasma cuiting

d) Chip thinning

| The difference between the upper limit and lower limit of a dimension is called:

d) Tolerance

a) Nominal size
b) Basic size
c) Actual size
)

Taechnieal Assistant Decamber, 2016
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yfe; el e 3 Fover ovaer a7 31F7AIc 0.5 §, @ wareh & farw et aaren g

a) 3799 A9 & 3 AT
b) JTTEYUT TG &1 4 T[=AT
¢) TEOT AT & HHBET
d) RuiRa 7 B sm asar g

el AR 5 HIFATT A T 3T et & fIT o vt et sl faa siran 2

a) Extrude
b) Rotate
c) Blend

d) 39 A A RS ¢

10

el &7y Y 3T ST ST ¢ ST WA gl

a) T draaT # Pae wxae.

b) ATETTme TeHTY @ 3] faaRa &

o) fafde aaEmT uT R fhred Jaaiaar
d) 3uded 7 @15 3

;11-

(-2.5,3.4) UF (-4.4 &-5.5) RE & drer g

a) 9.1
b) 8.35
¢)0.91
d) 7.5

12

29I T T2 500 kI FEOT #EaT E 31K 100° C & 200° C e ciTyaTad qfacher € AR ¥ 3 Tidhar 3 g
oerey 1 sitad A ssurar g,

a) 5 (kg K)
b) 2.5 ki/{kg K)
¢) 10 k/{kg K}

d) 25 ki/tke K)

13

g weaziae. (]

a) dIRwEg waly

| b) el o gaid
¢ T T vET
[ d) e warg
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8 | If Poisson's ratio for a material is 0.5, then the elastic modulus for the material is
a) 3 times its shear modulus
b) 4 times its shear modulus
¢) Equal to its shear modulus
d) Indeterminate
9 Which command can be used to draw Torus in any parametric CAD software?
a) Extrude
b) Rotate
¢) Blend
| d) None of the above
10 A material is said to be allotropic if it has:
a) Fixed structure at all temperatures.
b) Atoms distributed in random pattern.
c) Different crystal structures at different temperatures.
d) Any of the above.
1 Distance between the points (-2.5,3.4) & (-4.4 &-5.5) is:
a) 9.1
b) 8.35
c) 0.91
g} 7.5
(12 2kg of substance receives 500 kJ and undergoes a temperature change from 100° C
to 200° C. The average specific heat of substance during the process will be,
a) 5kdi(kg K)
by 2.5 kJi(kg K)
¢) 10 kd/(kg K)
d) 25 kJ/(kg K) e e e |
13

Symbol  [}(0)in a drawing represents.

a)Perspective projection
b)Third angle projection
! ¢) First angle projection
d) Cbligue projection

Technical Agsistanl December, 201
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T T Y U e 3 foteneal oo 21 G TR 9 AT ) SR e e arer el Yer daponeat
FIFEd & '

a) QuTdr
b) g8 ATl
¢) iR
d) HefrgZar

15

330° et T &1 BT H T vT 81T

a) 2n

b) /6
ch11 /6
d) 2 /6

16

U S 4T 3 kNm & #7el £707 39T 4 kNm & ¥ 10T T U AT TTARY & Hehell &, 9] AT Tieh
fereh g el 82

a) 7 kNm

) 3.5 kNm
c) 4.5 kNm
d) 5.0 kNm

17

31$ AT TR TG .......... BT T TN o Fre P v €1

a) IFARTEN
b) WaE AW
) EIELAL
d) 39 e arT

18

FON QT SEUTE 1 FoTqel) TN et 3 VT OIS ST el ik o

SRGIEED
b) Eafier

c) F e

d) Sa e

19

T Eftae T 3, YPbate o) HaEHr Heoe A BT &

3) TORAT S HEHA § R & ale.

b) e 7 & I o TR

¢} e 3rere elieet dfed 3 3 9AG F 519
d) e died F & e & g
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The property of a liquid which offers resistance to the movement of one layer of
liquid over another adjacent layer of liquid is called:

a) Viscosity
h) Surface Tension
¢) Capillarity
d) Compressibility

15

Transform of 330° angle in degree measures to that in radian measures will be

a) 2m

b) /6

c) 11 /6
d) 2 1/6

16

A solid shaft can resist a bending moment of 3 kNm and a twisting moment of 4 kNm
together, then the maximum torque that can be applied is:

a) 7 kNm

b) 3.5 kNm
c) 4.5 kKNm
d) 5.0 kNm

17

Dye penetratioh method is used to locate:

a) Temporary defects

b) Surface Defects

¢) Core defects

d) Sub surface defects )

18

In order to gain toughness in hardened steel, the pfoéess usually adopted is:

a) Annealing
b) Tempering
¢) Quenching
d) Carburising

19

In Vapour compression cycle, the condition of refrigerant is saturated liquid: ]

a) After passing through the condenser. |
b) Before passing through the condenser.

¢)-After passing through the expansion or throttle valve. ‘
d) Before entering the expansion valve,

Decamber, 2016
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20

3) QTN & HHOT
b) TeTE= 35 &HITOT
¢) IO Ferd o HROT

d) aqﬁaﬁﬂaaﬁaamm

21

g i-v3x*l g ETa:
x=3x3-Tx+1C

a)-3/8%
b) 08

c)-1/8 ¢
d)1/8%

22

oo, ST TN F AR AT oo I Bl 6|

a) ded

b) 379Y
¢) FoI

d) 75

23

fafRise aTeed 1.3 el del T LTI 0.0034 Ns/m? Y a1 &1 TRt QeI et m?/s 7 R

a) 2.6x10°
b) 4.4 x 10°°
c) 5.8x10°
d) 7.2x 10°

24

Q = KA(11-12) /x SSUTAT SaTg TR0 35, 'x/(KA) &1 STT0Teaed [T STl &

a) o wfade & e
b) ATy Iqorien & &9 #F

c) TSI FeTelsfcll & &9 7
d) ISOUTT 3R 0T 70T

25

T TSSO S et 3.5 MIN BT Yl &1 21 31T a1 aed 91t 3 il 3 o aferct & e geerer Tl & aamer
b STl | FRTATer wfcrarer 85 TAdIT 31K £=210kN/mm? €1 15 &I 4T g9,

al 160 fAeY

b) 161 AT

c) 162 fAady

d) 165 fA S _
:i?%a?f Fraert & TERaT 1000 R &t ) et 7 ST ard WY O Hafta WhA usira glar g

a) 1EEH
b) 10 GEH
c) 24 EITH
| dy12ge
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20 Rain drops are spherical because of:
a) Viscosity
b) Buoyancy
¢) Surface Tension
d) Atmospheric Pressure
21 33731 =3, then a is:
lim——m——
x=Sax~=Tx=1C
a) -3/8
b). 0
c) -1/8
d). 1/8
22 Discontinuous chips are formed during machining of:
a) Ductile
b) Brittle
c¢) Hard
d) Soft
il.23 Viscosity of a fluid with specific gravity 1.3 is measured to be 0.0034 Ns/m?2. Its
kinematic viscosity, in m?/s, is:
a)2.6x 10
b) 4.4 x 10°©
c) 58x10°
d} 72108 - ]
24 In the heat flow equation Q = KA(t1-t2)/x the term 'X/(kA)' is known as
a) Thermal resistance
b) Thermal coefficient
c)Thermal conductivity
d) Heat transfer coefficient S o
25 A hydraulic press exerts a total load of 3.5 MN. This load is carried by two steel rods,
supporting the upper head of the press.the safe stress is 85MPa and E=210kN/mm?
Diameter of rod will be,
a) 160mm
b} 161mm
¢) 162mm
d) 165mm R
26 One ton of refrigeration is equal to the refrigeration effect corresponding to melting

time of 1000 kg of ice.

a) inthr
h) in 10 hrs
c) in 24 hrs

Technical Assistant N December, 20186
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27

- - = |

[—5 2 ] & 3ifferes A

a}-6,-1
b) 6,-1
c)-6,1
d) 6,1

28

BT v, B AT RTSTATE

a) forel g & OR I SRR a7 LA

b) Forely g as IR T 2y TR 5T HTed

o) e 3 TN 3 Weig T et R 91T et
d) Toder o 3R 31 TRsERoT el

29

Log 2(1/128)

a)-7
b) -14
c) 14
d}7

forwattaia ¥ s & JRT 3mTely ox AN Rawor & Hgen &7

a) fevroTiea e
b) 3ariere et
d) arefens gfeal

31

9 T 4 LA mwdﬁ{cﬁﬁﬂaﬁnggﬂwmmaﬂwe@ﬁmmmQ’wﬁ
s

a) deld

b) EYeiaer
BRLCEEE
d) FeaEey

32

i

o g TG 175 350 kN 9T T HT aTel ¥, Fora) et 3eji1el Gehrs Ui 210 MPa Gellveeh WIS |
T TS T T o &Y, 3 U8 & AT B

a) 85 fA#HT
h) 104 AT
o) 72 T
d) 92 T

Tt & ot ShaeTaier (1) 1T m/min 3 averd afe & da weur g,

a) VTT=C
b) VT"=C

) V/T=C
| d)vo/T=C
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) -5 2
Eigen Values of [j __?] are
a) -6, -1
b) 6,-1
c) -6,1
d) 6,1

Reaming is the operation of.

a) Enlarging the end of a hole cylindrically

b) Cone shaped enlargement of the end of a hole.

¢) Smoothing and squaring the surface around a hole.
d) Sizing and finishing a hole. |

29

Log 2(1/128)2

a)-7
b) -14
c) 14
d) 7

Which of the following errors are generally distributed in accordance with the
Gaussian Distribution?

a) Controllable errors
b) Calibration errors
c) Avoidable errors
d) Random errors

Conic section obtained by cutting a right circular cone by a section plane inclined to
the axis of the cone and culting all the generators is:

a) Circle

b) Ellipse

c¢) Parabola

d) Hyperbola )

Wrought Iron rod is subjected to a compressive load of 350kN in order that the
allowable unit stress may not exceed one-fourth of the elastic limit which is 210MPa,
then diameter of the rod is:

a) B85 mm
by 104 mm
¢} 72 mm
d) 92 mm _

A Wi

The relationship between tool life (T) in minutes and cutting speed (V) in m/min is, |

a) VT =G
'b) VT =G |
lc) VIM=C

December, 2018
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34

AT oY ox e et o aesfoler srrar Bsflei sy gt dafia &

a) V(P/EN)*1/2=r/2
b) V{P/EI)*/2=nt
<) V(P/EI)*2l=r/2
d) v(P/EN)*I=11/2

35

el T ITd e o 1d 98 49T &

a) forass 34T atel atel ST BT 2.

b) FSTh F9L e | & ST g

¢) Foreh Y a3l arvq & oiTell &

d) o waf = avor v I Al A

36

Aot # & sla-a TR #i &g :

a) 1:1
b) 1.2
c) 2:1
d)10:1

37

T 3 3 FohaIT 81X aTelT gersT Tel) 3 37a 2.5 Toram 81K gttt &, 3w fafRree aecarmdory

a)l
b} 5
c) 6
d) 9

38

@M y=x+3 X OEET y=5-x2 @1 ufdede fag &

a) (-2,1)
b} (2,1}
c)(-1,2)
d) (4,-1)

39

el 7 & sla-ar gerqe Hevel ¥ o7 faurerer 1 9 o= & fore FueoT T diaerar & an ot
TTeT e &

a) Toargdr

b) Y&

¢) aREEr
d) EdeeAsRde

40

Technical Assistant 12 December, 2016

ﬁﬁaa:-}nﬂwaaﬁaﬁ%a:mzﬂia’fﬁim ................. FgerTar &

a) airded AT
b) &r3es #fEr

¢) e

d) eure HfRier




oy
Fitiat
| g

£l

INDIAN SPACE RESEARCH ORGANISATION SET

’ |57 Field: Technical Assistant Mechanical Post Code’ 24A C
34 | Euler's buckling or crippling load relationship for both ends fixed corresponds to:
a) V(P/EI)*/2=1/2
b) V(P/El)*l/2=Tr
¢) V(P/EN*2l=11/2
d) V(P/EI)*I=1r/2
35 Critical pressure of a liquid is the pressure:
a) Above which liquid will remain licuid.
b) Above which liquid becomes gas.
¢) Above which liquid become vapour.
d) At which all three phases exist toge ether
36 Which of the following represents reducing scale:
a) 1.1
h) 1:2
¢} 211
d) 10:1
37 A piece weighing 3 kg in air was found to weigh 2.5 kg when submerged in water. Its
specific gravity is,
a) 1
b) 5
c) 6
3 d) 9 o
38 Intersection point of line y-x+3 & parabola y"5 X2 is:
a) (-2.1)
) (2,1)
c) (-1.2)
d) (4,-1)
39 Which of the following gives an idea about the abilily of the equipment to detect
small variation in the input signal.
a) Readibility
b) Accuracy
¢) Precision

)

| d) Sensitivity ) R S
The operatlon of smoothing and 5quanng the surfacs around a hole is known as:

a) Gounter sinking
b) Counter boring
¢) Trepanning

) Spotfacing

Technical Assistont ' NDecember, 2016
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41

100 afer arer e U I & Y 3T 25 &l aTel U P12 gaar &, el e ol dg YT vem o7etr 8 Sjet
§% &1 93T T Ueh T T e o T 25 gl arel PRI 1 forger et @ells) gian:

a) 4
b) 5
c 3
d) 10

42

(1MSD = 0.5 mm) & 24 T & W19 el W a1 afeiart YaATe O 25 We7197 el A aferad dmeimad &
ToFatas e glan g

a) 0.05mm
b) 0.01 mm
) 0.02 mm
d) 0.001mm

43

m 3R 2m GeaaTsT & 1 3T Jeelt P HAIT TR FET A B AT o UUE o1 a1 VO §, af 9T 39
&1 497 feheiatr 7

a) 1/2v0
b) vO
¢} 2vo
d) 1/avo

a4

45

wH.vm.on, §, Arage gy & gea A qer afger

a) 90° T EIaT &
b) 90" FHEATE
¢) 180° Hf& QTS
dy b garg

| e 2 80 02 0, &7 s o ST R 2.5 FIC TS i i (0=1000Kg/m) T B IR AN A AT

4.9m/s? FEATYT T T 3N caor U R S, ai dehr & oot O¢ fhg=T eaTa gleme?

a) 9.81 Ffiw
b) 19.62 &wiw
¢} 36.75 &
d) 29.40 HT

46

47

&G Aeh 1ol T ehiel HT HIFT T136f oh) heclel ¥ Tl & HIT TG 315a AR il g?

a) Felld

b) Tlhe

EED

d)&ar -
Hgﬁ;ﬁéﬁm T BTN i _1%‘1_1;_549:;:1 aiterdieor Ui TR

|

a) deaaleier
N UEICIEIE e

| d) *eh_rsf‘(sf;‘ﬁw

¢) TTHTBTST

14
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41

A gear having 100 teeth is fixed and another gear having 25 teeth revolves around it,
the centre lines of both gears being joined by an arm. How many revolutions will be
made hy gear of 25 teeth for one revolution of arm

a) 4
h) 6
c) 3
d) 10

42

The least count of a metric vernier callipers having 25 division on vernier scale,
matching with 24 division of main scale(1MSD = 0.5 mm) is

a) 0.05mm
h) 0.01mm
¢) 0.02mm
d) 0.001mm

43

Two satellites, of masses m and 2m, are on the same circular orbit around earth. If
the velocity of the lighter satellite is Vo, what is the velocity of the heavier satellite?

a) 1/2Vo
h) Vo
c) 2Vo
d) 1/4Vo

44

In S.H.M., the velocity vector w.r.t. displacement vector

a) leads by 90°
b) lags by 90°
¢) leads by 180°
d) are in phase

45

An open rectangulér box of base 2m x 2m contains water (p=1000Kg/m3 ) up to a
height of 2.5 m. If the box is imparted vertically upward acceleration of 4.9m/s?, what
will be the pressure on the base of the tank?

a) 9.81kPa
b) 19.62 kPa
c) 36.75 kPa
d) 29.40 kPa

46

' Which portion d'f'é_taper shank drill prevents drill from slipping and thus ensures a
| positive drive.
|

| ¢) Neck

a) Sleeve
h) socket

OTang o ]

An oxidising process used for Aluminium and Magnesium jobs is called:
|

| a) Galvanizing

| b) Anodizing

| c) Parkerising
| d) Sherardizing

: Decomber, 2016 |
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48 | e R eEE

a) ara T &7 I HEr

b} 3Tadre TATATAT ST

¢) 91T 3R Fuer rafEg FT
d) sperfelar gere &l

49 | 10,000 J/s ST T HIS STNT 3 kW HTIEYE AT, all o1t B GaTam g1

a) 20%
b) 30%
¢) 70%
d} 76.7%

50 | galTelr oré 3Tl & HeTH 500 N ST ) Ueh FataT AR STeahral T &1 AC
3T BC AR &7 d=ATa AT HIfSTT

a) 433N & 250N
b) 250N & 433N
¢) 233N & 433N
d) 333N & 643N

517 | g A

a) 70% dieT AT 30% S
b) 70% citaT 3R 30% &=t
¢) 30% dAtar 3T 70% ST
d) 60% atar AR 40% feet

52 | forerfof@d A O el d @or A giaa g

a) ¢H

b) f¥argst
SRIESICIRY

d) U9t

53 | W TR IR T Forera & LI, ofef [oREl <[5 A4 b1 GaTA 1CUT TN SATEAT &, o1t ahfoclet ol aTlef 3T
I FeaeTeh: T @l ¢

a) olel &1 fevad

b) algelsr & e

o) F-o{ g T AT

d) Tre & [ -
54 | et aeedr AR awE ForTeret & e deet Ue W 2R FgalTaT &:

NEHUGEEIGIET

b) 31 FAZT
ic] ehat AeSH
| o) R srensa e e

L. Docember, 2016
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Function of plain washer:

a) To provide bearing area

b) Adjust the gap

c) To absorb shock and vibration
~d) To provide cushioning

49

If a heat engine gives an output of 3 kW when the input is 10,000 J/s, then thermal |
efficiency of the engine will he:

a) 20%
b) 30%
c) 70%
d) 76.7%

50

A 500 N weight is suspended by flexible cables as shown . o
in figure alongside. Find the tension in wires AC & BC. # @

a) 433N & 250N
b) 250N & 433N (i)
c) 233N & 433N
d) 333N & 643N

51

Brass contains:

a) 70% Copper and 30%Zinc
b) 70% Copper and 30% Tin
¢) 30% Copper and 70% Zinc
d) 60% Copper and 40% Tin

52

53

i__54 - iy

 d) Distortion allowance

Which one of the following is an angle measuring device

a) trammel

b) divider

c) sine bar

| d) angleiron

According to which law all perfect gases , ‘When the pressure of a dry gas is held
constant, the Kelvin temperature and the volume will be directly prportional.

a) Jaule's law
h) Boyles’s low
¢) Gay-Lussac law
d) Charles’s law B
| A taper provided on the pattermn for its easy and clean withdrawal from the mould is

known as:

Machining allowance
Draft allowance

a
b
¢) Shrinkage allowance
d

3
e

Technical Assistant December, 2018
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a) AT WATAIA HAHT HT Teh HE

d) GATATE S3f & aT de

e ST T TGS (A FA THY, ... GUIAT AT G

b;mmaﬁmrﬂwﬂeﬂhma@aﬁwwﬁa
c}mﬂmwﬁwwﬂtmmmﬁmﬁwwﬁz

56

a) ATUAITaRTY & ST fv e &l
b) ATgaTiaeRIE & vy = &
¢) ArqETfad e & efadia s &
d) Ferdjerer weft foyarat st

I 3507 SN 100% AT GETAT 9TCH el €, & 98 Seerae Fdl o

57

3 geref &1 IcaelAlcHERAT Bl & ¢

a) LA FHH

b) 1 o THEFET

o) 1@ 3Tt

d) getat & g AT

58

3) T H
b) 3f&FTHT

o) FI
d) mﬂaﬂﬁﬁaﬁéaﬁ

TG Tl U VHTHHG & o X gard fdee ... gl

59

a) IMFHIRNH
b) HEHERE
¢) 3TSETI
d) vz urdfee

el e i pv'= Feeries a, afe n=1 & o wimar g,

| 60

ay12,16,20
b) 9,56

) 6,10, 8

d) 15, 25, 20

wlar-ar e v aEmi R H ged A aiare?

| s wes @ sar snaa 7

a) World Coordinate System
b) World Configuration Style
c) White Circle Sign

d) White coordinate system
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86

a) Only one set of parallel sides

b) Only one set of parallel sides and one set of nonparallel sides
¢) One set of parallel sides and one set of congruent sides

d) Two sets of parallel sides

When proving that a quadrilateral is a trapezoid, it is necessary to show.

56

If a heat enginé_étlains 100% thermal efficiency, it violates

a) Zeroth law of thermodynamics
b) First law of thermodynamics

c) Second law of thermodynamics
d) All of the above laws

57

In Grey Body, emissivity is:

a) Less than 1
b) Equal to 1

¢) More than 1
d) None of these

58

Principle plane is a plane on which the shear stress is

a) Minimum

b) Maximum

c) Zero

d) None of the above

In the polytropic process pv™= Constant, if n=I the process will be at,

a) Isochoric
b) Isobaric
c) Isothermal
d) Adiabatic

60

Which set does not represent the sides of a right angled triangle?

a) 12, 16, 20
b) 9,5,6
c)
d)

6,10, 8
15, 25, 20

| 67

| What is the meaning of WCS in AutoCAD?
a) World Coordinate System

b) World Configuration Style

) VWhite Circle Sign

d) White coordinate system

w0

i : x 4 Wit Toas
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62

a) I/M=fly=E/R
b) M/I=Ffy=E2/R?
¢) M/I=f/y=E/R
d) M3/1=F fy=E*/R

63

Ue ETEITET &1 AT 21T &

a) 102 W
b) 550W
c) 75W

d) 745.7W

64

e oI T ATl 3 AT e RISl | 3TN 5 T & .. T LR GHT HEHTT H
FecH gard Hidae &

a) 45° 37T 90°

b) 45° 31T 135°
¢} 60° 31X 150°
d) 30° 3T 135°

5

6 FTER 5 TEllE & 39T U HTATHT AT A Farfefer aian anr shller Foe] 317 12 ky &1 GBI JHeoreer et '
g0 T ater 3T 150 e arger &1 g i regemer & fAfase HiRshds amqmﬂﬁmm%?

a) 80 WY
b) 120 TAYIT
¢) 40 THUIT
d) 100 THYT

66

fotrely HqoT 3redseiier el Yarg & fere awifel 1 g

a) 7+ p/w + v3/2g = R
b) 2 + p/w - vi/2g = TR
¢) Z- p/w + v*/2g = TERRTH
d) 2 - pfw - v/2g = TR

67

| ) 254
| d)0.0254 u

ST T O R e S1IaT T AT &

a) 25.4mm
b} 0.254mm
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The bending equation is written as

a) IIM=fly=E/R
b) M/I=Rly=E2/R?
c) MiI=fly=E/R
d) M2/I=R2fy=E%R

63

One Horsepower is eqllal to:

a) 102 W
b) 550W
¢) 75W

d) 745.7W

64

A body is subjected to a direct tensile stress in one plane. The shear stress is
maximum at a section inclined at ------- to the normal of the section:

a) 45° and 90°

b) 45° and 135°
c¢) 60° and 160°
d) 30° and 135°

85

A rectangular simply supported beam over a span of 6 m is subjected to central
point load of 12 kN . Its cross section is 60 mm wide and 150mm deep. What is the
maximum bending stress induced in the beam section.

a) 80 MPa

b) 120 MPa

c) 40 MPa

d) 100 MPa ]

Accarding to Bernoulli's equation for a perfect incompressible fluid flow:

a) Z + plw + v?/2g =constant
b) Z + plw - v?/2g =constant
o) Z-phw + v/2g =constant
d) Z - piw - v3/2g =constant

67

"One millions of an inch (one mil) is equal to:

a) 25.4mm
b) 0.254mm
c) 254

d) 0.0254

December, 20186
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68 1000kN/mm2 HHHET &

a) 1x108 THYTT &
b) 1x10° THYIT &
| €) 1x10° THYIU &
d) 1x10°N/mm2 &

69 ST e ARt 5 3R, 100 He/g5 &1 31 §:

2) g v aeaards s AW AFT F AUS §

b) Qe & v wgaardg s qwr B fAws §

o) MEFRTEETaISIAsaM Bg 3 7dF &
d) s RvmEga s Tsaudve e3¢

70 | Srratarad § O e s g 62

a) wATUITAE HH, FeTmeerar €, e, fAherdr
b) SrearTere AT, T W, 3edeT, Fherdr
¢) e, FHIT IO AT, Scaredr, fawerar

d) 3FT H G P AGT

71| 2 mm? ST 3TeRTAN G SET ST 12 N R T T I 315t a2t & 97 & e e €9 @ el |
AF 3T AR T 3R AT 36 fATaR ¥ 0.6mm HAFH AL &, STET E=150 GPa

a) 25m
b)45m
c) 30m
d) 20m

72 S IS Hisalare TaLHT, & HeTHTIT Wl Tt T AL & 3T3eid h1er ST §, 39 349 3ileoiee &l
o eed ... AW BT §

a) o zem

b) AT

¢) st AR HTERY

d) 2t AR #T TRy

(73| amdafedunat wfa 5o dfese Razgaer T TRomH g

| ) oz G T Heafles SATE, TIE U, FUFCS TN E|

| by 37 e fosee, Rl IR & derd, Sfrafier s, Fererls de gt

, | ¢) 317 e ORI AN TET AT ST FH Ferl |

' d) e BT 3 e ST, RreTil 3 At & R Siaea el SelFls 9 gl
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| 1000kN/mm? is equal to:

a) 1x108 Mpa
b) 1x10°Mpa
c) 1x10® Mpa
d) 1x103N/mm?

69

According to Indian standard specifications, 100 H6/g5 means that:

a) Tolerance grade for the hole is 6 and for the shaftis 5
b) Tolerance grade for the shaft is 6 and for the hole is 5
c) Tolerance grade for the shaft is 4 to 8 and for the hole is 3 to 7
d) Tolerance grade for the hole is 4 to 8 and for the shaftis 3to 7

Which of the following is the proper sequence?

a) Proportional limit, elastic limit, yielding, failure
h) Elastic limit, proportional limit, yielding, failure
c) Yielding, proportional limit, elastic limit, failure
d) None of the above

o |

An alloy wire of 2 mm? cross-sectional area and 12 N weight hangs freely under its
own weight. The maximum length of the wire, if its extension is not to exceed
0.6mm. Where E=150 GPa

a)25m
b) 45m
c) 30m
d) 20m

72

When an object is cut by a section plane parallel to H.P. and perpendicular to V.P.
then the sectional view of the object is obtained in

a) Top View
b) Front View
¢) Left Side View
d) Right Side view

73

Too high welding current in arc welding would result in:

a) Excessive piling up of weld metal, poor penetration, wasted electrodes.

h) Excessive spatter, under cutting along edges, irregular deposits, wasted
electrodes.

c) Too small bead weak weld and wasled electrodes.

d) Excessive piling up of weld metal, overlapping without peneiraiion of edges,
wasted electrodes.

Technicsl Assigtant Decembery, 201 6
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74

HTE U T Feer vefier wong & fae water &t e arely 9 & e

a) T 9
b) T s
o) At s

d) ACME 98

75

e TATRer 3ifeerst oY, arc i a3 FRr o aiers wgeras giell & 31l oFe W o oF rfemers g ot
&7

a) Feled
b) Us
c}aﬂ_ﬂ

d) aa i

76

1:4 31T 7 a1 ATl &Y 0T FHTA TP ot & A ITAeT atel &1 Y etehl Y@en 1fay shr afemor
s AT S I G|

a) 1:8
b) 1:2
c)v2:1
djv2

77

el gerd & imaTa atdar H aRsR B srar g

a) Hfise 1 gpa vurd) fagTd & spere i Az
b) ST HpT €TRY GTC Fidel il AT Tl

¢) T A g FATAT Ffe & aoreet i A
d) 39 sl

78

100N ST Ta TS 5 N aR[HSe #Y0T a6 & Wl 10 m.ﬁ@ﬁﬂaﬂw#ﬁ%%l 2y g &
oI HIeTel GU I 3eT 55T

a} 1000 Nm
b) 1050 Nm
c) 950 Nm
d) 50 Nm

79

3R g (1) T e &

E =
h) <1
lc)o

| d) goTH IS TET

. . ) 24
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[ 74

| Type of threads used to take high axial thrust in only one direction:

a) Square thread
b) Buttress thread
¢) Metric thread
d) ACME Thread

75

In which milling operation the chip thickness is minimum at the beginning of the cut
and reaches maximum when the cut terminates?

a) Climb

b) End

c) Face

d) Conventional

Two particles with masses in the ratio 1:4 are moving with equal kinetic energies.
The magnitude of their linear momentums will conform to the ratio

a) 1.8
b) 1:2
c) N2 :1
d) V2

AT

Malleability of a material can be defined as

a) Ability to undergo large permanent deformation in compression
b) Ability to recover its original form

c) Ability to undergo large permanent deformations in tension

d) All of the above _

78

A body of weight 100 N falls freely through a distance of 10m against an
atmospheric drag force of 5 N. Considering the body as the system, the work
interaction is:

a) 1000 Nm
b) 1050 Nm
c) 950 Nm
d) 50 Nm

79

Eccentricity of ellipse is:

a) >1

b) <1

c)0

d) None of these

Technical Assistant £2 Dacember, 2016
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a) 27.2 el
b} 50 HHY
c) 52 HHT
d) 13 Hedr

Technical Assistant
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80 If mercury in a barometer is replaced by water, the height of 2 cm of mercury will be
following ..o vover vevee oo cm of water

a)27.2cm
b) 50 em
c) 52 cm
d) 13 cm

Techunical Assistant DNecamber, 2016







